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I_)jrc_crion = Answer the following questions by selecting the most appropriate option.

1. Meloied 8 § f9-wr SOW @
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~(1) HARERT
(2) =T
(3) formar
(4) TETT H E
2. Fr=fafeg & & aF-1 @@ vgq

% g Iftrm fera 9 g8
e e 7

/(1) HiEfeT
(2) STFa

(3) SAIHTT
(4) STAIEAHS ST
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4. fFrfefeg & @ @9-w Feed am
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(1) yartear
_, (3) eI
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1. Which of the following is objective
determinants of Attention ?

(1) Interest i—
(2) Habit
(3) Curiosity

\ﬁ)/Duration of stimulus

2. Which of the following concept is not
related * with Bandura's  Social
Learning Theory ?

(1) Modeling
\L£2) Adaptation

(3) Imitation

(4) Observational learning -
3. Which of the following is 1.Q. Range of

‘Moderate mental retarded' children ?

(1) 521067  4(2) 361051

"(3) 20t035  (4) below 20
4. Which of the following is nof the

element of creativity as given by
Guilford ?

(1) Fluency é@éncubation
(3) Flexibility (4) Originality
SEPETR O
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(3) FaTeH
44) GRreHE

6. Frafifan ¥ ¥ B sRm 2
g7 T & Ui F& e ?

(1) 9I9d =R
(2) % WEFRT
(3) &fceT TR
A4) I IR

(7) 9ved A 9ORE ToT 3 HER W
ofeor & AHd BT S IS
Rl 1 Aol ergar @ S 7

(1) 7-1-1 @) 171
_£3) 1-1-7 (4) 4-4-4
8. fferiag & @ #9-d Frenaedn @

fagaen 787 € 7

(1) HamAss [

(2) ferdeft At gamd

(3) o™ % ferw

(4) R T Ll
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5. Which of the following is not a type
of Personality given by Sprenger in

values point of view ?
(1) Theoretical
*(2) Economic
(3) Asthetic .

(@) Athletic

-

6. Which of the following is not the
type of positive transfer of learning ?

(1) Lateral transfer
(2) Sequential transfer

(3) Horizontal transfer

'\%Pj Zero transfer

7. What is the ranking ratio given by
Sheldon for predominant endomorph
person according to physique ?

WA 7-1-1 @) Lz

% (3} dela7 (4) 4-4-4

8. Which of the following is not the
characteristic of Adolescence ?

L1) Emotional Stability
' (2) Contrasting Mental Moods
(3) Anxiety of Vocation

(4) Feeling of Hero worship
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9. Jui @d wew qdwwr # M &

IR # fow o € 7
" A1) 10 @) 12
) 15 (4) 28

10. Fr=fafaa ¥ @ S99 fom @ @
Qe 7&@T e ?

(1) feE & aRads ek &

) yifve fowE weEd bEE 8@
st Fewayel Bl &

/'<3>§$W Yol ogEgE A
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9. How many cards are used in
Rorschach Inkblot Test ?

1) 10

3) 15

Q) 12

(4) 28

10. Which of the following is rot the
true characteristic of Development ?

(1) Development involves changes

(2) Early
critical than later development

Development is more

\\9 Development ~ Patterns — are

unpredictable

+(4) There are individual differences
in development :

11. An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plufal of Mouse as
Mouses. This is the example of which

type of transfer of learning ?
(1) Positive transfer

V{Z) Negétive transfer '
(3) Zero transfer |

(@) Vertical transfer

P.T.O.
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12. ﬁ%@aﬁﬁﬁﬁ?ﬁm%w
B o Ry 2

(1) a9 g qaeiedy
* (2) TRt

B) =% fie

(4) HETERR

13. FfoReT & ¥ F9-a1 gade @
ToTeT TR § ?

‘() T

(2) AT

3) UARR T STETHIR
(4) BT

14. M=fofiEg & 9 F9-d e
qe! fasiar 787 & 7

(1) feeiREer  S@en o
aum%aﬁaq%qﬁaeﬁmw

Bl

“ (2) PrirERT ¥ T oRTE a‘?ﬁﬁ?ﬁ
fRerfey @t &1

(3) fepsiRIgeT quEpER i SE
Bl ol ;

~(3) fPeiaRn  aRdldRae B g
Bl Bl
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12. Which of the following is indirect
method of measurement of motives 9

/’/) i :
T) Sentence completion technique

(2) Questionnaire
+(3) Checklist

(4) Interview

13. Which of the following is Direct
Method of Adjustment ?

(1) Repression
(2) Regression
A3) Withdrawl and Submissiveness

(4) Rationalization

14. Which of the following is not the
true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood and
adulthood.

(2) In adolescence there is a vague
individual status,

(3) Adolescence is the threshold of
adulthood.

. 1Ls(@) Adolescence is a time of realism.
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15. mﬁ@(zﬁ?—ﬁﬁwmm’
@%ﬁ?%ﬂwmﬁﬁaﬁh@m
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(1) STHDET
" (2) AR

B) A W B s FEe d
T

(4) T8 F IR W G B
29 g

16. Preiad § § PH-|1 diHeEs &l
e STRETH Sl AOT /s E B 7

(1) e &
—2) g &
(3) AR g @
*(4) yE i EH

@-ﬂaﬁmama?mﬁrasrmﬁ%
St @ oTgRM @ A Hig S
oy, FEd € ¢

(1) formarag fasers™
(@) Yt f e (IEP)
f (3) ST e

(4) G T
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15. Which of the following is nof the
characteristic of introverted thinking
type personality as given by Jung ?

(1) Self Centered
1A2) Optimistic

(3) Absorbed in his own intellectual

pursuit

(4) Support Theory with facts

16. Which of the following is the
subordinate law of learning given by

Thorndike ?

(1) Law of readiness

(2) Law of exercise
—f3) Law of mental set

(4) Law of effect

17. A statement of knowledge or skills
that student should master after
instruction, is known as :

(1) A content analysis

(2) An individualized educational

programme (IEP)

L&) An instructional objective

“) General Aims
P.T.O.

Scanned with CamScanner



- B
http://haryanacurrentaffairs.com/
(D] (8]
1s.ﬁmmmm.1&MWs%mmW
e affm 3 Ba Ree @ Test" is related to which theory of =
i ¥ 7 permamy” :, |
(1) s o P (1) Trait theory .
(2) & 7 v frer (2) Trait and Type theory _
(3) Y& R (3) Type theory
(4) TR e w4y Psychoanalytical theory
19. -} wiehE 3 avh gem 19. Which  Psychologist  presented
Wfeeh AP ¥ Yofes e = scientific deseription of 'Individual
dofve 20 & Res mega B @ 7 &mmwmm
- ,j.
(1) Siterdré (1) Allport ;
) & e g (2) Biggi and Hunt o o
~(3) ¥ R i (3) Jean Piaget | Fak
(4) T st e & SirFransis Galon ~ * |
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i fafey

—(2) ReR SEus 1 [
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ST |
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21. Which of the following is not the
type of "Psychophysical Method" of
study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

_(3) The method of average or mean
error

(4) Modifying the individual

attitude

&

22. Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity
.. (2) Average retention

(3) Accuracy
(4) Recall of right material at right

time

23. Which of the following is not the
type of life styles for the
development of personality given by

Adler ?
(1) Lazy type ¢
(2) Ruling type
(3) Go-getting type
/Q4) Escaping type
P.T.O.
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24. fbE4 FE & ‘OAifesE Sifad
K(I)WWW
(2) X Wi e
(3) AR TEER
. (4) ffem S

‘IH GYT B TR F47 B & 7
(1) g G
*2) 7 uiEr

(3) IWH (1) T (2)
_(4) IR F A g T

25.

26. frfafed & & - SHE
Fredert & g1 Y T AfE |
R 3 Sa¥ @eTd WX & ST=id

I ® 7

(1) U8 TG SR

(2) QAT T

43) T T /ST TS
(4) T SR TS e

o7. feRiEd & ¥ -9 BES &
T FRIQRD SR TE e ¢

* (1) dgEEn
(2) W@ ST |
(3) JarEIR

- (4) FaEE
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24. Who stated that "Psychology is the
Positive Science of conduct of living

creatures” ?
e 1¢t) Sir William McDougall
(2) Sir Francis Galton
(3) Max Wertheimer
(4) William James

25. What are the basis of 'Self Concept ?

(1) Social Roles
(2) The Body Image
__) Above (1) and (2)
_(#) None of the above

26. Which of the following orientation
falls under the post conventiorr level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
LA£2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order

27. Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage
(2)y~Autonomy stage
(3) Anal stage

(4) Oral stage
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28. REFH & HTER ‘Tikaa R’ 28. Which is the fifth stage of Personality

1 qrad orae di-d ¥ 7 development according to Erikson ?
_(1) arRsm o S @ (1) industry v/s inferiority
(2) T S W it \-*"(2!) identity v/s role confusion
,/(3) ST A fawr (3) intimacy v/s isolation
o (4) ST S Rear (4) generativity v/s stagnation
29. ‘ié §9 b WX, 90T 29. 'Knowledge is constructed by
Wﬁ? d &N T S P S transforming, organizing and
g’ ge freifeg § ¥ fReas gesio re-organizing previous knowledge.'
P FEH AT § 7 This best explains the idea of which
of the following ?
(1) R (1) Piaget
(2) argaceh g, (2) Vygotsky
* (3) WU | (3) Freud
4) ag'(r /(,4) Bandura
30. 16 a§ @ oMy TH ARASH H AR 30. What is the approximate weight of
ST P & T 8 7 the Brain upto 16 year age ?
(1) 750 I & 900 A ~ (1) 750 gm to 900 gm
(2) 1200 T® & 1400 I Y12) 1200 gm to 1400 gm

_(3) 1000 3 § 1200 A (3) 1000 gm to 1200 gm

N (4) 800 IW § 1000 FH (4) 800 gm to 1000 gm

. Level-3/9207 P.T.0.
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L ﬁﬁﬁ@ﬁwaf%wﬁ%@vwﬁa@aﬁwaﬁw

'mﬁmﬁsﬁmaﬁrmqﬁ

g ® 7
(1) S uﬁ) AR
(3) BiFw (4) Sfeq

A1) ITHT I GErEAl Sgd e sl

) $ad T E A wE @ i
BHifoTq|

(3) F-Ff quedl & orBEA
Sl &l

(4), 59 far & f6 W q
‘—/)'ET;%W; &
33. ugd P sfte § o7 f[Aebed g
A1) T + 3B = TR

(2) R + 3% = ifiex
__(3)-SId + = Gﬂﬁﬁﬂﬂ,,.

(4) TR + 57 = e

34. g foseq & erediva @99 © 7

(1) fareTTeh-

)
l/(})aqama'ﬁm
(4) @A

Level-3/9207

a5, Rog fepey & 2o & @ T 78
g g ?
(1) fem™mE ~—
2y arieEX
3) e
(4) ferdfed

. o Rpeq § ‘o SUER & TN g

g ?
(1) SRR
) ST
(3) SR
(4) AR"FH —
37. ﬁéﬁq # e ¥ g R @
Bifex : |
(1) ser-Arer
(2) F-omRE
OR G
(4) FHRAITERN

38. WM%WW
(2) ABfTEr ae & R W@ E

(3) €I WF WA ® 2
L) T | AR A e R
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39. gD 3t | oFger faed gy :
(1) FER ——

- £2) AR
(3) Asaq
(4) saf
40. 1 # | ‘SR @ vy @R ?
)»aem ~(2) Brf
A3) ST (4) B3

41. s M g A B
(1) AT T oTHPNe AR @
@ gl
) @D Y & T ST
" (3) oM @ AT & M
(4) ST GIX T I
42, TTE ) gfe & T ke BT
¢y i - R e
O SN O
(3) TR - ofurerT dged
| (4) T - FH TG

43, SReg deErEs R g
(1) Rea af @ gam d W MW
aiferes i gl
(2) gt & digr-A T S
) TR F A & F AT

[D]

44. & I B T BT

(1) 98 W s aid ° & & Gl
2

(2) ¥ I g (B
(3) FF XA & FXA H A B
M)Eﬂaﬂﬁqﬂiﬁq@ﬂﬂﬁﬁl
45, G B R oh 9= @ g
a7 faed g ¢
(1) Redt war & SFHIT ST ARl Bl
qqd T - STl
(2) gaRHR T~ e A ST
- HfEEH
/3)%&1%@%% ST L
- (4) @ s R TR - a:ﬁ{szm

,Vwaﬁearm%m@%%'

 Level-3/9207

P.T.O.
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[ SO / ENGLISH ]

Direction : Answer the Jollowing questions by selecting the most appropriate option.

46. I'ill in the blank with the correct
present perfect continuous tense -

Whon .6t was coming to see me
this morning ?

A1) you should say

__(2) did you say
(3) you did said
(4) did you say that

47. Fill in the blanks :

The growing number of visitors
......... the footpaths.

—1) arc damaging
__A2) is damaging
(3) were damage

(4) was damaged -

48. To have 'a bee in the bonnet' means :
(1) to know perfectly
~(2) somecthing you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

49. Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.

(3) My pocket pick by somebody.
L/;(«I) My pocket has been picked.

Level-3/9207

50. TFill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be

given the job.

(1) neither of us I

(2) practically everyone : ; !
_(3) A no. of people
_(Mboth (1) and (2)

51. Choose the option and arrange the
following sentence in the correct
order :

I. Resigned i

II. To sack him

III. Had he not

IV. We would have been forced
1) IV,IILILT (2) UL IL LIV

G) IV,IL LI «4) 1L 1, IV, I

52. Change the narration :

-
i

——
S ——

He said, "I've been spending a lot
more time with my children."

3 He told me that he had been
spending a lot more time with
his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

—4) He said that he spends a lot more |
time with his children. '
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53. lill in the blank with the correct

present perfect continuous tense :
......... for five hours.
(1) been slept

(2) is sleeping

(3) been sleeping

@) has been sleeping

54. Choose the part of sentence that is
grammatically incorrect :
The world's supply of oil is soon
running out.
(1) The world's
(2) supply of oil
_{3) is soon running out
(4) both (1) and (2)

55. Choose the part of sentence that is

grammatically incorrect .

That's twice I've been forgetting to
bring my diary to work this week. '
A1) That's twice

(2) I've been forgetting

(3) to bring my diary

(4) to work this week

Fill in the blank with the correct
option :

Of the two Novels, this IS ............. x
—~£1) interesting

(2) more interesting
(3) interested

(4) much interesting

56.

[15]

[D]

Fill in the blank with the correct
present perfect continuous tense :

She is one of the few people ........ :
(1) who I look up to

(2) whose I look up

“(3) Ilook up to

@ Both (1) and (3)

58. The word 'juncture' means :
{1) in a joyous manner
(2) to put in danger
(3) to sound harshly
._4) point rendered

circumstances

57.

critical by

Ky

-59. Fill in the blank with the correct

option :
............ , they slept soundly.
A1) Hot though was the night ait
_+2) Hot though the night air was
(3) Hot was the night air that
(4) Hot although the night air was

60. Choose the grammatically correct

sentence :

&) No sooner we
'station and the train arrived.

._+42J No sooner did we reach the
station than the train arrived.

reached the

(3) No sooner did we reach the
station then the train arrived.

(4) No sooner did we reach the
station the train arrived.

Level-3/9207

P.7.0.
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HRT— 1l / PART = Ili
qH 79 / GENERAL STUDIES

[ ST A, RS ST G G S O o / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

[733T : [=II&T 791 & Gnv 37 @ fow gag I Awed i

Direction : Answer the following questions by selecting the most appropr iate oplion.

61. A T A R B Th <ol P oie 61. Two taps A and B would fill 2 tank
T & HE 30 R 36 e o R completely in 30 and 36 minutes
AN el B @ R S %, AT A respectively. Both  taps being
A F §€ FHA el & @ 18 opened, find when the tap A must be
e 4 o T WX S ? turned off so that the tank must be
: just filled in 18 minutes ?
) 15 fo & 7= (1) after 15 minutes
* (2) 12 o % = (2) after 12 minutes
A3) 14 flo & 9= (3) after 14 minutes
(4) 16 Mo & = (4) after 16 minutes
62. 10% ate &N W T FTsans! 62. In how many years will a sum of
F T 800 T &l T TR Rs. 800 become Rs. 926.10 at 10% per
926.10 97 Rre a¥ & & ol ? annum interest compound half yearly ?
(1) 399 (1) 3 years
@) s (2) 1% years
(3) 4 (3) 4% years
1)(‘ “) L (4) 2 years
63. UF wom ¥, 27% fmwi ol A 63. In an examination, 27% students failed
gt gy o 38% T § STg in English and 38% failed in Science.
Byig &Y, AR 19% I Fredl F oigedt &Y, If 19% failed in both the subjects, then
/3;“ ~8 T A Fedl F St @ SRR R the percentage of passed in both the
e subjects 1s
(1) 46% (2) 54% (1) 46% c2) 54%
(3) 62% (4) 81% (3) 62% 7 (4) 81%
Level-3/9207 3¢ Iy R 'ifi}’ e
- e — —_— XY e
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64. a6 Al &1 fasbd oo, & U & HA
I& P SUeX 8, o /e i
43
(1) 25% @9
(2) 25% iy
(3)33%%31%{

10
I/(A/)33§A’W R/ kD
65. ﬁ aﬁTDﬁr@%aﬁaaﬁ

awr% M%aa’r@(r?m%aﬂﬂ)
399 K & o 2 = A dau an
W@ﬁﬁﬁ?éﬁm? D, K
(E)il (2) D

(3) M ) R

ey q§ & e T B SMEe § 5%
% ghy @ Sl el o ad # 3EH
50, ) FA & ord Bl AR g A @
oFq § s 79,800 &, dl ¥
qf & e 7 oee B o 7

66.

1) 79,800
2) 80,200

__3) 80,000

(4) 79,600
67. 8, 15@124@%&1@[6@%@

e G T

(1) 120 —(2) 1800

(3)-3600 (4) 6400

v

Level-3/9207
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64.

65.

66.

67.

[D]

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit
(2) 25% loss

(3) 33%% loss

4) 33%—% profit

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person

among them ? ‘
(1) T 2) D
(3) M (4) R

In the first year, the population of a
village increased by 5% and in the

. next year it decreased by 5%. If at the

end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800
(2) 80,200
(3) 80,000
(4) 79,600

The least square number, which is

divisible by 8, 15 and 24 is equal to :
() 1800
(4) 6400

(1) 120
(3) 3600

P.T.O.
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68. T I RR ¥ R R ow =@
W IEE W @ Y SEw e

ueT R @ ik ¥ cuw
fre Rem & & 2 ' ni i

() S
(2) &R
(3) uftmy
@) v

69. 1 AR ¥ 77z ag PR :
PE , Q,H’
ICV, §E0, 91, 1518, 170R
A (@) 9T
T oz 1518 (4) 170R

70. & Fe 9t # DISTANCE &
IDTATOEC' frar wsmr ¥ o
DOCUMENT' & 'ODDMUFTN'
forar s B, o et e g s B,
“THURSDAY' & Ryar s :

(1) HTRUDSYA
=£2) HTVSREYA

[18]

Y e T
£ .I‘L.‘".G .‘J‘v

68. A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North

(2) South

(3) West

(4) East

Find the wrong terms of the
following series :

1CV, 5FU, 91T, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R

In a code language, ‘DISTANCE' is
written as  IDTATOEC' and
DOCUMENT'  is  written as
'ODDMUFTN', then in same code
language, THURSDAY' will be
written as : g

(1) HTRUDSYA

(2) HTVSREYA
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e 10 free aur @ o aw B
aol @}, we aftor ® o 6 et
B Mot qe gt @ sl 3 e wea
bowe et georh Py & dod @
fg fam & B 7

(1) ufyey V/h"

ABdambascshD ER
@Rl EANCEmALA
cRAwmt @ P AR AnE
w0 A &9 8 Fwk?

macammh

t
|
[

72.

74,

@) EisclderoB.

[D]

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
Fast. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his

son's age. The present age of the
father is :

(1) 40 years

(2) 30 years

(3) 50 years

(4) 45 years

A is clder to B while C and D are
cider to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
frue ? ;

(1) Ais elder to C.

(2) Ciselderto D.

(3) DiseldertoC.
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75. R M 1 ¥ 100 9% H g
fora ¥, @ @8 Bt a) 3 R & ?
—~1) 19 @)P1

)3) 20 (4) 21

76. U% F] 9 & fudq Rem ¥ 13
ol R g & Raw § 28 B A

I g B SR 5 € P 9T Al
Bl Ul @ T w7

1) 17 1 /8oar
(2) 2 f%at /guer
(3) 2V et /aveg
(4) 3 [l /gver

77. [ o A BEEC 2 0 3 & oTgue A
. T I SEEdl 5 : 3 W G
Bl D SFH b FEA STYIM ®
(@2 208 2820507
3) 4:9 4) 9:4

A—

78. U N A SEQ (A Ul S a9
H T IR T F
 HEARTLESS' R Tl 6%

% foforer feam ot Hebel © 7

(1) 1 (2) 2
LA0) 3 (4) 4
b))
4 3
79. : - @ CHL GINC LS
) )
12 2 :
4 3
2
11 1
0h) 25 (2) 25
11 g
(3) 3TE 4) 3=
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75.

76.

77.

78.

79.

If Shyam writes down all the integers
from 1 to 100, then how many imes

does he write 3 ?
(1) 19
(3) 20

) 11
4) 21

A man rows upstream 13 km and
downstream 28 km taking 5 hours
cach time. What is the speed of
water ?

(1) 1Y% km/hr

(2) 2 km/hr

(3) 2% km/hr

(4) 3 km/hr

The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :

(1) 27 :20
(B)E4%29

(2) 20 :27
4) 9:4

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter-only once ?

(D)1 ) 2
O 4) 4

4 4
13 3)
The square root of 4 3

is equal to :

(= @) 2.
1% ) 12
11 I

B L

(3) = (4) 312
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80. fr=1 g 2oft 3 o wE ¥ ¢
20, 20, 19, 16, 17, 13, 14, 11,2, ?
a~~1) 10, 10 (2) 10,11
(3) 13, 14 (4) 10,9

1857 & fE® & aRW Jsdsd @
Rraredier 9 e ?

(1) 99 fed (2) S=go g
B wHaE  (4) =T

fgeer wime # B @ A Y TSE
QR § GeAI o6 T 7

(1) gomEd Ee
(2) ST @S
((3) TSTa T @ IS HAE
(4) SE< 7dS

81.

82.

g3, RO R, S ST 2019 %
gTE & 9% TMRd B R E

(1) 124t (2) 134t
JE) 143 7 (4) 159t
gq. REmT F ¥ WIE W W el
JraRyd & 7
4) wheEE (2) WA
_(3) T (4) e
o5 wRaEn & T eq 63 T ferdt
AT B i (7eE) BE
(1) T I
£2) TS G
/(»3’)‘?(011@3?!3

(4) o Jlo TWo Tio FR
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80.

81.

82.

83.

84.

85.

[D]

Next terms of the following number
scries are :

20, 20, 19, 16, 17, 13, 14, 11, 2,?

(1) 10, 10 (2) 10,11

(3) 13,14 (4) 10,9

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton (2) W. Eden
(3) Adam Loch (4) Hudson

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

() 12t
(3) 14"

2) 13"
(4) 15"

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat
(3) Gurugram (4) Rohtak

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao

(4) T.V.S8.N. Prasad

- P.T.O.
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(1) Asds F@)W

(3) BT (4) g
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86.

87.

(1) MR T
(2) = 87
—3) TR B

(4) W 9
88. [ ST&X 1 UREIN 9 Frs o ?

(1) Fe=Te

(2) SAHIT

8) Fua

(4) QI

FAaey Saf § @ @ o &
BTN TRHR & & S i R
R B : '

(1) T H8

2) & g

(3) TEBTX ™

__(4) 37 FT3

00. &7 eI, S fo VY Fl HEHD © :

89.

(2) Hifgsl

—(P) daM
(4) §=0

(3) &
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86.

87.

88.

89.

90.

In which district of Haryana "Tikkar
lake' is located ?
(1) Rohtak
(3) Karnal

(2) Panchkula
(4) Kaithal

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang

(2) Kumud Bansal

(3) Chander Trikha

(4) Suraj Bhan

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh

(2) Ambala

(3) Kaithal

(4) Sonipat

The award is given by the Haryana
Government to the gold medal winner
in the Commonwealth games :

~ (1) Three crore

(2) Two crore
(3) Seventy Five lakh
(4) One & half crore

Rivulet, which is one of the tributary
of Ghaggar :
(1) Chautang
(3) Dohan

(2) Sahibi
(4) Indori |
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